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[The figure in the margin indicates full marks. Candidates are required to give their answers in their own

words as far as practicable.]

Group-A

(Multiple Choice Type Question) 1x15=15
1. Choose the correct alternative from the following :

(i) Identify that the differential equation whose general solution is y = Ae" + Be " is

a 2 1] b) 7
) d"]‘ =—y d_)er.f_Be—r
dx* dx
<) dy d)
{ =y none of these .
dx”

(ii) Identify The general solution of xdx+ydy=0 is

A xt-yt=c b X'+ v = 2¢

d) hone of these
(iii) Write the correct number of digits which are not significant in the number 0.031

c) xzyz =c’

a) 0 b) 2
c) 5 d) none
(iv) Identifythevalueof[ & _
* xlog x
2) logx+c b) log(logx)+c

) e +c d) None of these.
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(v) Identify the value of [ e* dx

b) & +¢
28 s d) e
& c o
§ g ) pe Tt None of these.
5 .§ gAY - 2 {
g e (vi) A (v may be expressed as which of the following terms? Examine
E o5 - the cormrect option.
= &
; £ a) y, =3y, +3y, -y, b) 3y, -2y, + ¥,
= 3
VPAREL +3y, +31, + 3, d) none of these
vHEIaVINY 1Swnis; & ,f_d
EST00%- PeAIoN rnzaind COs yxax
ST f*JiTJ‘ le':ehtiﬁf‘mE value of [T— =
L =
b
) 2cosix ) 2cosx
c .1 d
} 25in L  2sin 5

Jx

(viii) 1 [ Z2 X = 4tan® x then identify the value of A is

©cos x
a) 3 b) 1
c)-3 d) j
(ix) Identify e the value of I xsin wdy =
a) Xsinx-cosx+c b) xsinx+secx+c
C) XCcosx-sinx+c d) —sinx+cosx+c

() Examine while taking t=m,A(x+cosx) is

a) m+2cosx b) x-sinx
c) m1—2cosx d) 1-sinx

(xi) Newton’ s backward interpolation formula is used to interpolate which of the
following option. Examine the correct answer.

a) near end b) near central position

c) near beginning d) none of these
b

o | I S (x)dx
(xii) In Trapezoidal rule for evaluating the approximate valys of « :
thr:-_area grven by this integral is approximated by the sum of area of
which of the following option Choose the correct answer

a) rectangle b) sectorial figure
c) trapezium d) none of these



alls. Two balls are drawn one after another

(xiii) An urn contains 4 white and 6 black b
ball white and one black is

without replacement. Then identify the probability of one

2l b) 4 P e
24 15 % it"';
c) 8 d ﬁ %
== ) none of these = <
15 E &
(xiv) Identify the median of the scores of 9 students 9,8,4,6,7,411,13,10is xf %
a) 9 b) 8 LIBRARY o é)'
c) 85 d) none of these Bralnware University g (<14
(xv) Identify the A.M of the datas 13,15,20,1,3,32 is wmmmu -700M¢
a) 18 b) 14
c) 205 d) none of these
Group-B
(Short Answer Type Questions) 3x5=15
2. Identify the value of [ —— dx . 3)
3. Three fair coins thrown.Identify the probability of getting no tail? (3)
4. Five men in a company of twenty are graduates If two men are selected out of 20 at (3)
random , Identify the probability that they are all graduate?
. (3)
5. Calculate:=X = 7x
dx
i (3)
i A v (xdy o+ vdx )+ (xdy = vdx)=0
6.  Evaluate: the differential equation ¥ (xdy+) de) + (xdy =) x) )
OR
8 éx (3)
Evaluate: =—= €
X
Group-C
5x 6=30

(Long Answer Type Questions)

7. Tell the value of [ xcosx dx

(5)
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(5)
ax
8. Tell the value of [-1—————-

—4x-5
2 " (5)
9. Calculate:—= + —i‘— -6y =0
dx =
% (5)
10. Calculat: £ = 4x

- ;J .,_1.;_._; ; '_:__

VIO - el 8 5
11. Two dice are thirown simultancously. Identify the probability of getting the sum as (5)
12. Evaluate by Trapezoidal rule correct upto three decimal places from the given figures.  (5)

X 1.4 1.6 1.8 2 2.2

y 4.0552 |[4.953 6.0436 7.3891 9.025

OR

Evaluate the following system by Gauss-Elimination method: ()
.I. )1- i
x+2y+3z=5

2x +3y+4z=11
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